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Ques # :1

for tramplanting one hectare area of paddy crop,how much area for raising nursary by'dapog
method' is adequate?

1) 25-30m?
2) 50-60m?

3) 75-90 m?
4) 100-120m?

T & U gFeIT &1 & A9TS g 'sTaer fafer gamr Qaoft &7 fraer atree wafaa gam?
D 2530%F
2) 50-60HY
3) 7590 #?

4 100-120 HE

Ques # :2

name a chemical sprayed at 60 days after sowing to induce seed dormancy in spanish bunch type of
groundnut.

1) maleic hydrazide 250 ppm
2) g.a. 50 ppm

3) naa 20 ppm

4) cytokinin 500 ppm

QT T FIHHT HIThe 1 7a1$ & 60 et a1e; [¥sahra Fvar @ Tafever govahn et S T &
v 4R gt §

D) Afoes grégranss 250 A drwa.

2) SR 50 Oy dr T

3) w20 G T

4) grrersrfaeT 500 9.9 Te



Ques # :3
orobanche sp. is a problem weed in which of the following crop?

1) cotton
2) tomato
3) sugarcane
4) wheat

IR @rIaar it # & e waa 1 yoq@ FAEATE?
1) sarg
2) gAY
3) ST

4) ?IE
Ques # :4

the state having highest area under drip irrigation is:

1) andhra pradesh
2) punjab

3) uttar pradesh
4) maharashtra

T =T & B39 R & eadiq gaifte aa 2
1) ariey werer

2) getre

3) SeR ue

R

Ques # :5

the largest producer of mothbean in india

1) rajasthan
2) mp

3) up
4) punjab



A A AT HT FaH 37 3cUTCHF U7 ¢
D) roreams

2) Aeg e

3)3‘3&

1) gorre

Ques # :6

chemical formula of gypsum is?

D caso,

2) €aS0..1/2 H.0
3) as0,.5H.0
4) CaS0,.2H,0

forews & wrafas ¥ 8:
D caso,

2) aS0,.1/2 H,0

3) CaS0,.5H,0

4) CasS0,.2H,0

Ques # :7
pigeon pea is commonly known as

1) red gram

2) black gram
3) bengal gram
4) horse gram

IET FI IMAAR I SATAT SATAT §:
D am

2) s a1H

3) Satrer IITH

) R T



Ques # :8
which one of the following is not grassy weed?

1) eleusine indica
2) digera arvensis
3) digitaria sanguinalis
4) chloris barbata

fawifFa & ¥ #lq @raaar g 7@ ¥
D) wegfae gf3a

2) greorT AR
3)%Gﬁ%ﬁ'm@ﬁlﬂﬁﬂ

1) FRE IRETer

Ques # :9

which of the following variety of wheat is comparatively more talerant to warm temperature in
rajasthan?

1) raj 4079
2) raj 4120
3) raj 3077
4) mpo 1215

fArafaf@d # & dg 1 Flaw frew Toredr & a6t araAT Hir g3t & 9fy FeArcAs 79 @ st
agaAefier &2

D) 514079

2) T 4120

3) =T 3077

D wA A 31215

Ques # :10
sugar-75 is an important variety of -
1) pop corn

2) quality protein maize
3) grain maize



4) sweet corn

YER-75 TF HEcdqoT fher ¢ -
1) oy Frerent 1

2) aquTdedT NENT FHeFRT

3) &reY aTelY ATHT HerepT Y
4) FYE FreFT

Ques # :11
the optimum seed rate for sowing of cumin in rajasthan is -

1) 12-15 kg/ha
2) 4-5 kg/ha
3) 20-25 kg/ha
4) 1-2 kg/ha

e # S Y garé & o gean Mg d -
1) 12-15 frami.

2) 45 fRase.

3) 20-25 fRam/e.

4 12 fFand.

Ques #:12

which of the following chemicals to induce is used hardening in plants?

1) ccc
2) Kaolin
3) PMA
4) CaCl,

Rrafaf@d 7 & wlaar e gyt & F3Rar venT 3 & F7 3rarg?
Ddrdrsdr

2) &3nfae

DdruAT

1) FiTH FeNSE



Ques # :13
oxyfluorfen belongs to which group of herbicide:

1) diphenyl ethers
2) dinitro anilines

3) chloro acetamides
4) bipyridiliums

MFAFARPA R dleerarel aof ¥ Fgafaag g2
1) sréRpetrarer $oy

2) gréargeY 3t faed

3) FeiRY veieAS S|

1) srSuradE o

Ques # :14

which method of weed management is not reccommended under organic farming?

1) stale seed bed
2) polytheme mulching
3) green manuring

4) chemical fallow

GIUAAR Yawuer i Hladt A F1 dAfas @d & v sequla adt e
D) frecst et dzan

2) qiforefiet gerar

Nglrae

4) Tarafae gsq

Ques #:15

Raw Bone Meal contains P,Os content to the extent of -

1) 5-10 %
2) 10-15 %
3) 20-25 %

4) 30-35 %



3UTGTeT 3FEUTOT A BrEhe Y AT gielt ¥ -
D) 5-10 wfaera

2) 10-15 gfaerd

3) 20-25 wfaera

4) 30-35 gfaerd

Ques #:16
which of the following plant growth regulator is elevated under water dificit condition?

1) aba

2) ga
3) auxin
4) cytokinine

foreer 7 @ e urew geY fore=r urelt it w7 Fr ufa F s sz ST 32
D) uferafae s

2) et 3 a

3) sftferas

?) FgrHrsTA

Ques #:17

When a transgenic plant is crossed with a non- transgenic, what would be the

zygosity status of the F; plant?

1) homozygous
2) heterozygous
3) hemizyguos
4) nullizygous

o U gifoliels die 1 IRciaollelss & Ay #i| BRar ondr g, df Fy telic #

smfady ufa w=ar gefe
1) FAGIAST

2) CLEDCE )
3) 3ERTAST

4) e gIFST



Ques #:18
iet '23832' is a variety of?

1) zn rich rice variety

2) mn rich rice variety
3) zn rich wheat variety
4) mn rich wheat variety

3$ 581 123832 U TFEA 2
D) S sy ermet it fres
2) FaTefist IR ereT Y et
3) e a1y 31 7 e
4) FHaraiier TR A 1 forea

Ques # :19
the initial seed of an improved, limited in quantity and produced by the plant breeder is called as -

1) nucleus seed

2) breeder seed

3) foundation seed
4) certified seed

UF JooTdl fohEa T Scafed FaedT F YO3HTd HT dier St for i aAmam 3 ghar & aar dler yorers qarr
Yer T AT}, FEATAT R -

D shegen fier

2) ySTeteh et

3) 3mem ey

4) garfora e

Ques # :20
the process of evaluation of seeds in terms of purity and germination is called as -
1) physical purily

2) seed sampling
3) seed testing



4) roguing

dfiT QreedT Ud 3FOT & SAta HY afkar Fard § -
D i ergar

2) ST T AHAT WAl

3) far adveror

1) qaiseT

Ques #:21
who amang the following scientists coined the term recurrent selection?

1) f.h. hull

2) j.b. harrington
3) c.m. donald
4) n.f. jensen

fArfafad & ¥ fFa defas F 3rads II+ Ue FT T
Do, v gor

2) 3. & gRaea

3) &Y. & Sres

4) UeT, U, STt

Ques # :22
which of the following is not a feature of a pureline selection-

1) purelines are homozygous

2) variations in pureline are not heritable

3) purelines have high level of adaptability

4) purelines become genetically variable with time due to mechanical mixture and mulation

foveT ¥ @ FleT AT eI F TIT FT AT AL ¢ -

D) erg dersre aageasi g &

2) 21g gersea # fReetary R-3negaites gy &

3) o1& FHH H ITT TR 3TTTeleT2ierd gl &

4) 21g gRIsHe T HIERIHT F i TA30T T ScaRada & FR0T GATATER 9T g STl &




Ques # :23
pedigree breeding method is generally used for genetic improvement of -

1) cross pollinated crops
2) short duration crops
3) long duration crops
4) self-pollinated crops

STl Foretel fAfer T AATeIaT ATegaifde GurR & faw 39aier frar srar g -
D) qrouifara waen & faw

2) &A-3raf arelr Beel & foT

3) Y 3@t arel BEeY & faT

) Tg- AT BEe & fow

Ques # :24
which of the following variety is not developed through clonal selection?

1) kurfi red of potato

2) neelam in mango

3) bombay green in banana
4) ir-8 of rice

e & @ Fia @ fFead &1 A gfaeT oo @ 78 fFar = @2
D) 31y #r ol 35

2) 37 iy Ao

3) oy fr aiFEa MeT

4) rarer T TS 3-8

Ques # :25

the hybrid progency from a corss between two single crosses is known as-

1) three way cross hybrid
2) double cross hybrid

3) single cross hybrid

4) top cross hybrid



2 T R & T & e @ SN §E ST F) S A -
D e ar g

2) @ R Ha

3) Tehel IR H

4) o 9T Fee

Ques # :26

a variety developed by mixing the seed of various genotypes which are similar in maturity, height,
seed size and seed colour etc is called as-

1) synthtic variety

2) composite variety
3) convergent variety
4) open variety

v forea St gera 3raflr, Fs, dier 3R ot dier o e 7 waTer ot areht fafies SeesT &
N 1 APBT FT TTeTal FarHT AR AT Y AT &, Fgard ¢ -

l)ajﬁﬂﬁm:r

2) gH7r freH

3) wfEaAfed feen

4) o e

Ques # :27
the protein content in cercals and pulses are generally governed by -

1) oligogenes inheritence
2) polygenic inheritence
3) cytoplasmic inheritence
4) none of these

TSI Tl TUT Gorgel Bad A WElT FY AHET TR iafRaa eyt ¢ -
D) sitehaish=r farad garr

2) diferatferen fara gam

3) AT A favrad g

Y goar & lg AL



Ques # :28

the process of formation of nitrogen and nitous oxide gases from ammonical fertilizers in soil is
known as?

1) nitrification

2) ammonification
3) denitrification
4) mineralization

A & Ao d 3RE T ATseIo 3 ATSeH ATFATSS AT & TS T UHAT FY T T H AT
ST 8?

1) srsfefrenere

2) A fafthenerT

3) SraATsieitpenerT

1) GefreienteT

Ques # :29
one bar equals to....... mega pascal -

1y 1
2) 10

3) 0.1
4) 100

T&h IR fhda A9 I o & ST gar 8?2
D1

2) 10

3) 0.1

4) 100

Ques # :30
the colour of land capability classes for class 1 and class 8 on map are respectively

1) light green and red
2) lighr green and purple
3) dark green amd purple
4) yellow and orange



AT a3 $fA avear Soft 1 3 8 Tor Fwarer: T 8-
D) goent g1 31k @rer

2) goohT &1 3R S

3) a1eX g 3R S

4) drer 3T AN

Ques # :31

approximate weight of 10 cm surface soil of one ha field in kg is -

1) 1x10°
2) 1.5x10°

3) 2.25x10°

4) 3x108

UF gFeaT &1 Y 10 WY TAE! FET FT ForeT s 7 STarstar fFetatr g 82
) 1x10°
2) 1.5x10°

3) 2.25x10°
4) 3x10°

Ques # :32
natinal bureau of soil survey and land use palning is headquartered at -

1) new delhi
2) bangaluru
3) nagpur
4) karnal

AeeTel S A% e 7 T A3 I3 cenfer FT AEAET § -
D a7 fewelr

2) §orers

3) ST

4) egeATer



Ques # :33

Acording to the fertiliser (control) under, rock phosphate marketed for direct

application should contain a minimum P, 05 of —

1) 12%
2) 18%
3) 35%
4) 24%

I (FAT=0T) EA & ITHR, el Hdesd & folv aeR & 99

Sl arel Uk BEDE A BEBRA (P2 Os) F «FeTdd AAT gleil AIRT -

1) 12 gfaera
2) 18 gfaera
3) 35 gfaerd
4) 24 gfaera
Ques # :34

which of the following fact is not true?

1) when the intensity of rain is more than infiltration rate, it causes runoff and soil loss.
2) coarse soils are more susceptible to erosion than fine soils.

3) deep lateritic soils have lower rate of runoff.

4) alluvial soils have high rate of runoff.

frafaf@a & @ #ia a1 vy g TE @2

D) St st iy efrera, areit Rera i &3 & SeT giel & Y S8W STel 39T Ud FaT g1 g &
2) 7y ol Ferd, ALY Folir Far3it i 319aT 3rest & Sfa afgsoy e &

3) a8t eRers e Far3it T St 39aTE e FHA AT &

4) STeire TATEIT & STeT 319aTe &T 0 gl &

Ques # :35

a situation in which a crop needs more of a given element, yet has shown no deficiency symptoms is
referred as -

1) quantitative deficiency



2) bare economic deficiency
3) hidden hunger
4) essential hungar

VHY raTyT fSwH wHel A 3 37fF 9y deal Y raeddr gxdl § AfFT wer 7 Rt oft yFR
NYF dcd T FAT & 87071 @S gt & §, Feardr § -

D) darens sgeran

2) gt 3nfeie el

3) fht s@

4) aaeTe o

Ques # :36

which of the following statement is not true?

1) Soils containing less than 1 milli equivalent exchangeable
Mg / 100g soil are considered magnesium deficient.

2) Soils cotaining less than 15 milli equivalent exchangeable
Ca /100g soil are called Ca deficient

3) Potassium sulphate contains 24 % S.

4) Agricultural limestone contains 80-95 % CaCOs.

fores & @ FleT 71 FuT FE AL 72
D) wes el sardideie fafaerer Ao AfFafRms wfd100 o & w0 AfFafe areh merst &
ATTATIH wgTelr arely FeTw FEd §

2) dgg el serdacie fafae e Sieaas afd 100 33 & w0 Hoaast ardh Aemi # Hfeaaa
=TIl aTell HIU g &

3) QreRIIH Hethe H 24 UfArd Gew graT &

%) Ry 3TNl oI TR 7 80 F 95 Uferd HiovrrH Frafae grar g

Ques # :37
the transformation of elemental nitrogen to an organic form by micro-organisms is called as -

1) nitrogen fixation

2) nitrogen synthesis
3) nitrogen metabolism
4) ammonification



& Shal gant #Aifaw Arserste #1 e 9 F F9iawor FEamars -
1) srscrere feerdieor

2) ArSeIST AT

3) ATSEITT TATTTY

4) ArserST ANAHIOT

Ques # :38
the smallest volume that can be classified as a soil is called as

1) ped

2) pedon

3) soil catena
4) soil profile

" BT 71T ForwanY HeT & w9 F Foffeper fmam s @shan &, Fgenan -
D og
2) gt

Ques # :39
which of the following pairs is not correctly matched?

1) entisols - recently developed mineral soils

2) vertisols - developed on high salt content

3) mollisols - dark coloured soils rich in organic matter

4) alfisols - strongly weathered soils with high basw saturation

foeer & @ w7 wr SET ARG A B2

D) weérdtes - Aafasfaa swefas gard

2) géfared - 310 oquit W faeiad
3)ﬁ3ﬁﬁw-?ﬁwméﬁ$wﬁaﬁwdlmqqlﬁ
4) TehrETed - T TR Heod el FXY HIETT FATd

Ques # :40



"Arka Rakshak'is a first triple disease resestant F, hybrid of

1) tomato
2) brinjal
3) onions
4) okra

"3ehT T&TR i AT B DI fdgdr VIRl F, gt 22

1 THTET
2) ot
3) TSt
4) e
Ques # :41

"yellow vein mosaic' is a common disease of -

1) potato
2) okra
3) tomato
4) chilli

"Il AT A TF' HieT Y AT T THAT AR 82
D 3irer

2) s

3) TATET

4) 3y

Ques # :42

""arka lohit' is a variety of which crops?

1) okra
2) tomato
3) chilli
4) brinjal



31t s v werer oy P 87
1) ey

2) THATET

3) sy

4) §arey

Ques # :43
"bolting' is a disorder of which crop?

1) potato
2) tomato
3) garlic
4) onion

Ques # :44
granulation is a physiological disorder of which fruit crop?

1) mango
2) guava
3) sapola
4) citrus

"I HieT W FeIGR HH FHT IeuhIiIHr fawr 82
D 3o

2) ¥AEE

3) Eﬂf

4) g

Ques # :45



what is the seed rate of papaya?

1) 150 g/ha.
2) 250 g/ha.
3) 400 g/ha.
4) 600 g/ha.

gt Y st g fhdeit 82
D 150 smAgerey
2) 250 AMHRFEIT
3) 400 TTH/ZFEAT
4) 600 FTH/RFEIT

Ques # :46
"tikadi' is cultivar of which fruit crop?

1) aonla

2) citrus

3) ber

4) lasoda

"RR&d i § FogR Fad I FeA g2
1) srieer

2) ot

3) &t

4) e

Ques # :47

which of the following crop is mostly direct sown?
1) tomato

2) brinjal

3) okra
4) all of these

fArafaf@a & ¥ #ia @ v F Aear @ ST SATaTE?
D) eArex



2) a1
3) forey
) goref & galr

Ques # :48
very important constituent in fruits for preparing jelly is?

1) sugar

2) vitamin
3) pectin
4) cellulose

et AR A F fAw Ger & farer & & e @1 957 Agca o weF 72
1) iy

2) faerfs

3) afFest

4) Jogend

Ques # :49
botanical name of sweet orange is

1) citrus reticulata
2) citrus aurantifolia
3) citrus sinensis

4) citrus maxima

S AR T FITEAfaE AT FATE?
D) wrggw Megparer

2) grsey AREwIferT

3) ArgeH Arse ey

%) wrscw AfFweT

Ques # :50

sparkling clear juice is known as



1) rts

2) nectar

3) cordial

4) all of these

TUTH 9T WTH IH & T & ST SATAT 82
Daxé&row
2) e
3) sifsarer
1) gorat @ el

Ques # :51
in india date is harvested at?

1) doka stage
2) dang stage
3) pind stage
4) all of these

HRA A WX T 378 FleT | 3ra€ 4T R A AT §?
D) 2

2) s

3) fiz

4) g7y & galr

Ques # :52
under apmra the sale or purchase of agricultural produce is carried out in

1) market area

2) market yards

3) market sub-yard
4) all of these

apmra *W?ﬁﬁﬁﬁﬁﬂﬁﬁﬁﬁﬁﬁﬁ%—
D o &=

2) SToR 1S

3) TSR FE-T1S



1) s T Esh

Ques # :53
which one of the following is not a public sector institution?

1) fci

2) nddb
3) cacp
4) nafed

fArafaf@d & @ wiq a1 ardefas &7 F1 e T A& 2
D o dramg

oS

D @mudrdr

4) A=

Ques # :54

which one of the following is not an example of direct government intervention in agricultural
market?

1) public distribution system

2) prize support and procurement
3) maintenance of buffer stocks
4) establishment of fci

farafaf@a & & sl a1 F TOR F TWFR F @Y gEaaIT F7 38607 781 82
D) ardsifaes faazor gomelr

2) Fea gAY vd @l

3) JTT TTeh T TWIETE

4) wep Y 3S & TATIAT

Ques # :55

Cost A, is —

1)



Cost A;+ imputed value of family labour

2) Cost Aq+ rent paid for leased in land
3) Cost A+ imputed interest on owned fixed capital

4) None of the these

e A B -
D amra A+ ofafis sm &1 srekd ao

) ot A+ AT WA A s R

3) RNE A+ FEI #T A G W SiHTeId sqme

4) oI & Flg el

Ques # :56
which ratio detemines the solvency of business in the long run?

1) debt - equity ratio

2) working capital rotio
3) net capital ratio

4) current ratio

SreiTer 3 YT Y FOT AT &THAT HY FieT AT AT fre R FIar 2
D) ot sy reqara

2) rrafier goft JreTara

) o oft 317l

4) FATe 31eTaTd

Ques # :57

how much percentage of the total geographical area in india is a accounted by forests?

1) 30%
2) 25%
3) 21%
4 18%

R & Fol AT arawmer H1 frder gfoera gerenfea 82



1) 30%
2) 25%
3) 21%
4y 18%

Ques # :58
in case of live stock generally which of the following depreciation method is used?

1) straight live method

2) diminishing balance method
3) sum of the years-digit method
4) annual revaluation

TR Hederd & foaT WrATear: i o fafer w1 3w frar srar 32
D) grer @ fafe

2) ged dqee Bfer

3) a§ & 3ieT & Qe Hr I

4) arf¥es qereieaiesT

Ques # :59
which of the following security is pledged for obtaining chattel loans.

1) lic bonds
2) warehouse receipts

3) jewellery
4) land

SHaTeT T STt e & Fare e e rfevegf el et ST &7
D oo drars

2) sisrarg Fr e

3) 3ageror

4 g

Ques # :60

differential rate of interesr scheme in being implemented since -



1) 1975
2) 1977
3) 1980
4) 1990

STt Y & H I Aol FH a8 § AT W@ 82
1) 1975
2) 1977
3) 1980
4) 1990

Ques # :61

which of the following national level institutions was not merged with nabard in 1982?

1) ardc
2) acd

3) rpcc
4) afc

Frfafaa & @ e @ TG Fax H FET 7 1982 F TS H ey 7€ ga?
Demarar

Dedrd

3) s dr

Duumdr

Ques # :62

two products are said to be competitive if their marginal rate of substitution is

1) zero

2) positive
3) negative
4) infenitive

&Y 3catel & FfaeaeicaAs® Hgar Iie Iaeht WAra RAeumgsT g3 e gheft
D e

2) aeTcH®

3) oA

4) i



Ques # :63

when the banks fail to recover the loans advanced to the weeker sechious,then which institution
reimburshes the loan to them?

1) dicgc
2) narard
3) rbi

4) goi

I dh FAGR dq B AT AT FOT HY T FIA A T FIHATT TGl § I Pt W TEAT ST FOT
Y $ITUTE FIaATCH &2

D g 3ms e shan.

2) mraTs

3) 33,

4) .33,

Ques # :64
natp (national agricultural technology project) was started in the year

1) 1998
2) 1994
3) 1991
4y 2001

m(mﬁmm)mﬁﬁaﬁﬁaﬁ?
1) 1998
2) 1994
3) 1991
4) 2001

Ques # :65
which of the following pair is not correctly matched? (events - starting year)

1) atma-2005
2) hyvp- 1965-66
3) national bamboo mission- 2007



4) none of these

frafafaa & & wiv @1 da S ¢ &2 (FaweH- qna av¥)
D) wéwAT - 2005

2) TarsddY - 1965-66

3) rsérar S TAerT -2007

4) 513t A 1S AET

Ques # :66
which one is a non- projected aids?

1) cinama

2) slide

3) over head projector
4) pictures

e # @ FlT @ R- A s
D) e

3) 3R g3 WoiFeX

4) g

Ques # :67
goal of extension eduation is?

1) to promote income of farmers
2) to promote production of crops
3) to promote new crops

4) to promote scientific outlook

o & @ *ie a1 RATaR Ran w1 e &2
1) forarsit &1 3mar & serar &

2) HeIT 3 3cUIGsT &Y Ferar &l

3) 1S Wl ST ST ST

1) genfares TiSeEHIvT I Sorar 8T




Ques # :68

community development programme was started in the year

1) 1952
2) 1985
3) 1945
4) 1955

forer o 3 wroreTies s Friswe O fomar arar o
1) 1952
2) 1985
3) 1945
4) 1955

Ques # :69
laizzez faire approach to programme planning is depicted in which of the following sentence

1) soundest programme result when ideas of people and extension workers are pooled.
2) if you want help, let me know, we will try to give what you want.

3) a person attempts to regulate the activities of others for his purpose.

4) imposition of programme on people.

FRIGH &Y AT & AT i I tRewHor Reafaf@d 5 v aaa J T =

D) @rishat & qear 9o aeft S99 § 9 el q2r S8R FrEiEant & faart @ afeafea
SI=Y

2) 7fe 39 FAeE e § A H TAIY, §H 3! S 37 ATEA §, 3H S AT HLE

3) ve TAfEd e 3229  fore gant i arfafafert s fafafiad we @ e war g

4) STt oY FIHH A9

Ques # :70
which of the following is not communication eflectiveness approach?

1) attention - perception -comprehension - acceptance

2) comprehension - validity- utility

3) commonality of comprehension between sender and receiver
4) communicator- message- channel- audience

foreT & @ e I1 FAR wfaar 1 TieHor AE 22



D erer- erom- et el

2) gH- d4rar- ST AT

3) e 31T TToaeRdT & e F eI gHST
) HIRh- HeQU- ATETA- &

Ques #:71
how many components were there in the national agricultural innovation project?

1) three
2) four
3) five

4) nine

TS AaeAY F TRATSTAT & fohdet g 42
D) Her
2) T
3) g
4

Ques # :72

people should realise that the task of extension education is their own work. the above sentence
depicts which principle of education?

1) principle of need and interest

2) principle of coopertion and participation
3) principle of cultural difference

4) principle of democratic approach

YcAS SqTFd P! Ig GHASTAT A1TRT T3 THR AST T H1 37T 9T T 8i IURNTFd a1 A 3T
YA freT & Rgia &2

1) smaesaar aur & & Rgia

2) FgYaT FAUT FEATANAT T Rgicl

3) AiEpTa e 1 g

1) Srepdifaes TfSeamivr &1 fagia

Ques # :73



nation wide programmes of extension were started with the launching of

1) etawah pilot project in 1948.

2) indain society of extension education in 1964
3) community development programme in 1952
4) watershed development programme in 1984

YA & ISEeaTd) HTAHAT T ATIT HT T ;-
1) 1948 # gerar arrele Woise garT

2) 1964 F AR faedR e afAfS garn

3) 1952 # AHETRAF fawra HRIFHH AR

4) 1984 3 STeIITET &1 AT HIIHA aR]

Ques # :74
which of the following sentence is not true about kvks?

1) kvks organise longterm vocational training for rural yonth for generating self employment.
2) kvks organise trainings for subject matter specialists of agricultural universities.

3) kvks orgnise trainings for extension functionaries and farmers

4) kvks orgnise front line demonstrations to generate production data and feedback.

FY e Foal & IR 7 FieT 71 FI7T TH AT

D) &% et g FaRIoeIR Fotet & forw aimsdior ansit & forw Srdefores caraartis fvator
AT T §

2) Ry Rt s Y Rreaieerer 35 R Rttt & fre SruaTor 3rifre e i

3) Y AT Sy TR ST q2uT et & forw FfRaTor 7 3miiete 3 §i

%) T Tt dhe 3cTeeT 3tiehs T HfAfsRam &ot 3 forw st aferd Wit &hT 3TTiteret a°Xct §

Ques #:75
programme planning starts with-

1) identifying problems along with people.
2) transmission of information and ideas.
3) selecting suitable strategy or action

4) studying the resources



FTAFHH HT AT YT A ¢ -

D) Srett hr gaEansit f ggaa T &
2) =T T gt 1 HoR0T R

3) Fugerd (oI AT HRIETE & T |
4) garert & eI F

Ques # :76

measurment of a combined assessment of ambient temperature and air humidity on the animal is
termed as

1) thermal stress

2) animal confort

3) temperative and humidity index
4) all of these

4T & ATYATET UF TG HT TYHT T IS Tel THTT & HTFelel H Fed ¢ -
D) a1 QoA & werre

2) a3y & T IRMHGIF

3) ATIHAT T TG YA

) gorat g s

Ques # :77
rajasthan is leading wool producer in the country with a share to the national total out put.

1) 50%
2) 30%
3) 17%
4y 11%

TSTEATST ST61 A8 SATET 31 ScdTee giell & Foraent &7 & Fel FeT Se et H7 A& -
1) 50%
2) 30%
3) 17%
4) 11%

Ques # :78



how much temperature is required incubation of chicken egg under artificial condition?

1) 395°C
2) 335°C
3) 375°C
4) 355°(C

Fier 3Tty ganT sgas 3q 73l & 313 & fore Rra= dTaaATT i smaeasar gt §2
D 39 50 afcew
2 33.5° Afcwaa
%) 37.5° Afcwra
D 35 50 Afcama

Ques #:79
pure stock of jamunapari breed of goat is found in the state of

1) rajasthan

2) haryana

3) madhya pradesh
4) uttar pradesh

TH AT I STAATIRY TE fore T 7 el 82
D) qroreams

2) gfaoT

3) Aeg yeer

4) Icar e

Ques # :80

molybdenosis is a disease in cattle is caused by imbalance of & in diet?

1) mo & ca
2) mo & cu
3) mo & mg



4) none of these

RS ST FrafRat & HER # P e & FRoT e §2
1) mot"a"ca
2) mo‘l'_q;cu
3) mo Ud mg

4) gast & FIS o 7

Ques # :81

curled toe paralysis in poultry is a nutritional disease due to defficiency of -

D) vitamin A
2} Vitamin B,
3) Vitamin D
' Vitamin C
et # 3T Y [l T qaTTEne v Dor Haef HAT § Y R Y FA & FROT I -
D faafasr A
%) fyerfaeT B,
Y faefir D
Y e C

Ques # :82
first milk after the parturition of cow is called?

1) toned milk
2) butter milk
3) colostrum
4) cheese

I F YHT & 916 Ig G Y FIT FgT 1T 62
%) FFE 1 gy



3) FreieeH
4 gefiw

Ques # :83
indian livestock census is conducted after every?

1) 2 years
2) 5 years
3) 10 years
4) 15 years

AT U STTerorAT fhedel o & are; ImAfSre hr Sl 82
Doay
2) say
3) 10a¥
4 159§

Ques # :84

pashmina fibre is produced from -

1) goat

2) sheep
3) camel
4) rabbit

IRAAT Y2 Ao 8T & -
Dartra

DR k|

3 Feca

) @EEd

Ques # :85
wool sorter's disease is synonym to -

1) actinobacillosis



2) anthrax
3) brucellosis
4) black quarter

I WREH AT T FATATS e & -
D) ufesfeE

2) vy

3) senfae

1) s Faex

Ques # :86
pratap dhan breed belong to-

1) goat
2) rabbit

3) poultry
4) sheep

Yaq & fheR grafrua @ -
Denira

) gEna

3) st

Yo

Ques # :87
milk vein in cow has -

1) water

2) blood

3) milk

4) milk and water

I Y g AT A g ¥-
D) oy
2) g1

3)3‘-31-

4)
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Ques # :88
psychrometer is used to measure-

1) evaporation

2) weight of air and water vapour
3) relative humidity

4) amount of water vapour

ASHHAT H A9 F HHA A RATIATE -
1) aredientor

2) gaT Ud STl aTsq &l IR

3) |rveT Mg dr

4) STo1 arsq Y AT

Ques # :89
the international standard (si) unit used to express the solar radiation is

1) watts per square meter

2) calories per square centimeter per minute
3) joules per second

4) mega jaules

#lR RfERor &1 ygRia Fa AT AR ATH THE ¢ -
1) are gfey aet #fex

2) Fedr gfa aef Hex wfa fAee

3) Slew ufa Ahs

4) T o

Ques # :90
the main source of farm power in india is?

1) bullock
2) tractor
3) power tiller



4) diesel engine

AR 7 Bt aferd w1 77 A 82
Do

2) $ey

3) ey feeR

4)@77'?5;3;[

Ques # :91

the process of removing air from pump casing and suction pipe by filling water in the suction pipe
in called?

1) priming

2) hising

3) centrufugation
4) all of these

TYOT GI5Y Tt $IEHT I HTa0T 3T THOT qI8T & §aT gt Y TFHAT Fgaral o2
1) wrafiar

2) gyt

3) FErorgarersT

Dz A q T

Ques # :92
lux is used for measuring -

1) intensity of solar radiation

2) photosynthetically active radiation
3) reflected solar radiation

4) intensity of thermal radiation

TFH SHTE T 3GANT 19 & AT TS -
1) giv fafemtor &t drgrer

2) genrer GeorwoT fehareiier &l fafeor
3) wrafda it fafeor

4) ardirr G Fat & drarar



Ques # :93
hydrometer measures?

1) specific gravity

2) density

3) octane number

4) both specific gravity & density

EISSHIET ATIA FIAT 8?2

D fafarse aeea

2) geicq

3) et e

4) fafRrse Ireca vd gelcq alet

Ques # :94

which machine is being popularly used to seeding wheat in rice residue without conventional
tillage?

1) zero till machine
2) happy seeder

3) zero seeder

4) eco seeder

QA # TTae BH AN H Ag B Aeft garg fae et wEmmeTd For st & w3 & v Fm
# or$ 51 T A2l &-

D) e ot Fvefer

2) godt €t

3) g AT

4)33#@,3;

Ques # :95

the total force required to pull an impliment is called?

1) draft
2) pull
3) hp



4) thrust

RIS F @A F AT AraeTs Fo ae FeT AT 82
1) gre

2) Qg

3) 3T ufFa

) 3t

Ques # :96

if the stream of water coming out of the orifice the discharge is under water, name the water flow
measuring device

1) free flow orifice
2) submerged orifice
3) parabolic weir

4) cut throat flume

9Tl & UATE & T9e) & T T JTH FIT § I STl TdT18 ARG A ot arell 4RT 98d I+ & 3¢
T-

D) oy et 3T OTRE

2) geeT RAT

3) qxreifores AR

?) e e o

Ques #:97

primary and secondary tillage operations are being performed simultaneously through a farm
implement named as -

1) chisel plough

2) seed-cum fertilizer drill
3) rotavator

4) disc harrow

T B IF Fra WP v gfaeiT S[AT$ 1Y 1Y FI G o, IHEHT ATH o-
D fRsrer ger

2) fro7-@re Sty r 7Rl

3) Qerdex



Y BT R

Ques # :98
which or the following is not true about the geometric mean?

1) geametric mean becomes zero, if any item of the series is zero

2) it becomes meaning less, if certain items are negative in the series.
3) geometric mean is always more than arithmatic mean.

4) it's computation is not easy as that of arithmatic mean.

RRTd d s ar saAAs Areg F I A Se agi &2

D) 3R sigelt 3 1S Y TR T AT o2 § a sATfAfas Ared i e gy Sar §
2) 3 ST H FIS G&AT HUMcHS & dl ST AT ATed e gy Sar &

3) ST ATET §ARAT HehaTTurdIa ATCT & 377 giam &i

4) RO ATEY ST O, TR TS AEY T 0TI B AeT alal i

Ques # :99
the second central moment about the arithmetic mean is always equal to?

1) variance

2) mean deviation

3) standard deviation
4) none of these

IHITTOTT A ATET F TR H GUA Foa1 T &T0T FAAT frdah HATT BlaT 82
D) gegor
2) AT e

3) AT AT

Y goTR A IS AE

Ques #:100
the distribution of minimum and maximum observation giving idea of variability is called-

1) mean deviation
2) class frequency
3) range dispersion



4) all of these

FIAAA T STaH O F AT A 3T TS T ATl Aot Y AHER) Ao , ;N Fea 82
D #rey Raerer

Ques #:101
when the two variables are independent, the correlation between them is-

1) less than one
2)+1to-1

3)0

4) 1

ST &Y 9 A TaaT g df 3% T F Tg- a0 81T ¢-
Di1asn
2) 11981

3) o=
41

Ques #:102
which of the following statement regarding correlation coefficient is true for data set n(x,y)?

1) it remain unaffected by change of scale but changes with change of origin

2) it ranges from -1 to 0

3) correlation coefficient is negative when y decreases with decrease of x throughout the range.
4) none of these

33T n (x,y) F AT Fgwawr quns F aR # Amafaf@a & @ slawr saa @@ 32

1) 27 4y 35 IR & TR @l & A T 5 IR 5 AT IR g -
DIg-1q0FaTEATE

3) HEHTY RUTCHS &IdT & 519 x & sl & @Y y s gear g

) goTet F IS AET



Ques # :103
if mean is 5 and variance is 9, the coefficient of variation will be -

1) 60%
2) 90%
3) 30%
4y 50%

Ife ATER 5§ T wHor 9 ¢ & festar &1 qun (FIfRie 3w adere) g -
1) 60%
2) 90%
3) 30%
4) 50%

Ques # :104

to compare the consistency of two players in their previous matches, one should calculate-

1) their average runs

2) standard deviation of the runs
3) coefficient of variation of runs
4) the median runs

2 FRrenfaeit it R st 2 ST 6 oren e 5 RV AT 5T TR
D) zga it &1 3t

2) Teitert AT TarereteT

3)WTW®WIF|TT{1UW(C.V)

4) Gt i Arfege

Ques #:105

if arithmetic mean is 48 and median is 47, mode value will be-

1) 44
2) 45
3) 49
4y 95

aﬁmr—am—qm%wmm%awm
1) 44



2) 45
3) 49
4) 95

Ques # :106
the harmonic mean of 0,24 is -

) 3
2) 0.5
3) 0
4 2

HEAT 0,2,4 T gIcHP ATETS -
1) 3

2) 0.5

3) 0

4) 2

Ques #:107
the best average for dealing with the qualitative data is-

1) arithmetic mean
2) geometric mean
3) harmonic mean

4) median

Wm#ﬁﬂzﬁﬂimmsﬂwsﬁqﬁaﬁam%-
D) gareax Arey

2) IOTTeH ATET

3) grcHS ATEY

1) mregenr

Ques #:108

inseet sex pheromone altract to -

1) male moth
2) female moth
3) larva



4) egg

e AT 3R T FTar i
D s aArg

2) AreT HYey Y

3) arah

4) 3roaT

Ques #:109
entomopathogen verticillium lecanii is used for control of -

1) borer pest
2) aphid
3) leaf miner
4) termite

SACANNY IS 'TRARATAITHT AT FT SEIATT fheT F AI=70r 7 grar i
1) e fre

3)51%3@?
4) &R

Ques #:110
bt cotton is also called-

1) transgenic crop

2) hybrid crop

3) open pollonated crop
4) none of these

&t & FUTH Y HgT AT Bi
D) crgafaes wae

2) gréfas waer

3) 3N9eT Qifceies e
) S ofr 7



Ques # :111
cypermethrin belong to which group of insecticide-

1) organo chlorene

2) organo phosphorus
3) organo carbamate
4) synthetic pyrethroid

AR oo # @ forw o & WA @2
D 3t areidier
2) 3T FRBIE

Ques # :112
imidaclopid belong to which group of insecticide-

1) neo nicotinoids
2) pyrethrum

3) rotenone

4) neem

sHsTEAIS e & & frw o F et &i
D) o) menfearas

2) qrave

3) QT

4) A

Ques #:113

which of the following is acaricide-

1) thiacloprid
2) indoxacarb
3) dicofol

4) deltamethrin



faFeT & e AFdAeE g
D arrerenifs

2) grRITaTHId

3) srEgrmrer

1) oAy

Ques #:114
ha- npv can be used for control of -

1) spodoptera litura

2) helicoverpa armigera
3) myzus persicae

4) white fly

v U- O 9. F AT 7 ¥ FaF Ageaor & seaaAre gar gi
D gwaraifaesr fogw

2) gforeraar e

3) ATgerg qXfAHT

4) Fthe HeE

Ques #:115
the great irish famine (1845-46) was due to -

1) early blight of potato.
2) brown rot of potato.
3) late blight of potato.
4) rice blast.

HETA TAT 37T (1845-1846) F HROT g‘é o2
D) 31rey i wixfdes iy

2) 3ATe] T 31 faeTer

3) 31Te] T Il 3T

4) reret T gEar

Ques #:116



"black arm' disease in caused by-

1) xanthomonas compestris p.v. malvecearum
2) clavibacter michiganense

3) xanthomonas compestris p.v. cymopsidis
4) pseudomonas syringe

ST QT 9T FFaS FROT 1T 62

D St e $redra o . At faRa
2) Fafgaec AR

3) SN FEAEe N f3 agAm R_fRy
4) FqgAeTE RS

Ques #:117
potato cyst nematodes are also known as -

1) globodera rostochiensis
2) heterodera avenae

3) meloidogyne incognita
4) xiphinema spp.

TS T SRR TAGA Flerar &2
D) areieew Qe tas

2) fRee T

3) AeERTS sASREET

4) TR gofa

Ques # :118
which is free living bacteua capable of fixing nitrogen in soil.

1) bacillus spp.

2) azotobacter spp.
3) pseudomonas spp.
4) streptococcus spp.

FITH HFd W aTer SHa10] Yoy 71 & Al ara 3 gi
D) Sefrore wamfar



2) dSiFeIaeFeT Tt
3) TORrAETE St
4) EYerRd Tolia

Ques # :119
seeding blight of castor is caused by -

1) alternaria spp.

2) phytophthora spp.
3) fusarium spp.

4) colletotrichum spp.

3RUS T Gler qeTseT (AT N FFH Fah gaRT 81T o2
D) smeeafar gonfa

2) BIEEIHFIRT T

3) refas getar

REICUEEC TR

Ques #:120
white flies transmit plant viruses in-

1) non - persistent and semi- persistent manner.
2) non-persistent and persistent manner.
3) semi persistent and persistent manner and rare non persitent

4) only persitent manner.

wihe ATE A yaTRE qid & Ry g ¥
D 3 oo 3R 35 enaR & @

2) I AR 3R oeaR ades I

3) 3 IR TaR ad& @

4) Fael TITAR IOF T




